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E3- Know and use exact values of sin and cos for 0, o232 and multiples thereof, and exact values

of tan for 0, % , %, g 7 and multiples thereof- Questions

AQA, Edexcel, OCR
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Evaluate the following expression

cos45°cos30° + sin45°sin30°

. 1 .
If cos % sin g tan% = then what is the value of x?

If sin? % +1 = x + cos? g , then what is the value of x?

Ifa+ B +y =180° , then what is the value of sin (g + g) ?

What is the solution of tand + V3 = 0 in [Og] ?

What is the smallest positive angle for which 2sin?6 + v/3cosé + 1 = 0?

What is the general solution of the trigonometric equation tanf = cota ?
What is the number of solutions of tan36 = 0 in the interval [n, 3?”] ?
Find the value of sin50° — sin70° + sin10°?

If sin(a —B) = —% and cos(a + B) = % then find the values of @ & 8 ?

cos(a+p) 0

If cotacotf = 2 then what is the value of cos@p) ’

If cosf + secH = 2 then what is the value of cos?8 + sec?8
Ifa +f =90°and a — § = 30" then what will be the value of sin3a ??

4 a
1+sina . sing + cosy
— = 4 then what is the value of —4—% ?
1-sina Slle— - COSE

If

Find the value of cos 1—”2

Simplify the expression sin(a — ) + 2cosasinf.
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What is the reference angle of cosf = — > ?

What is the solution of vV3csc8 + 2 = 0 in [0,27] ?
What is the solution of sinf = —% in[0,2m] ?

What is the solution of sec?8 = 2 in [m, 21] ?

tan3x—tan2x

What is the solution set of ———————— =
1+tan3xtan2x

Find the most general value of 8 which satisfies both equations sinf = _% & tanf =
What is the solution of (2cosx — 1)(3 + 2cosx) = 0 in the interval 0 < x < 21/
What is the number of roots of quadratic equation 8sec?6 — 6secd + 1 = 0?

What is the most general solution of tanf = —1 and cosf = —=7?
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What is the number of solutions of sin?6 = % in the interval [0, ?n] ?

What is the most general solution of sina + cosa = \/2sin8?

Find the most general value of 8 which satisfies the equations cosf = — % &tand =1

What is the most general solution of sinf + v3cosf = 2?

For what value of 8 the equation is true cotf = sin26 in the interval [0,27]?
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